Graduate Mathematical Statistics Steven Heilman

Please provide complete and well-written solutions to the following exercises.

Due March 10, 9AM, to be submitted in blackboard, under the Assignments tab.

Homework 4

Exercise 1 (Order Statistics). Let X: Q@ — R be a random variable. Let Xi,..., X, be
a random sample of size n from X. Define X(;) := min;<;<, X;, and for any 2 < ¢ < n,
inductively define

X, = min {{Xl, X X, ,X(H)}},

so that

The random variables X(y), ..., X(,) are called the order statistics of X,..., X,.

e Suppose X is a discrete random variable and we can order the values that X takes
as r1 < xy < ---. For any i > 1, define p; := P(X < ;). Show that, for any
1<4,5 <n,

n
P(Xy <) = Z (k)pf(l —p)"
k=j
(Hint: Let Y be the number of indices 1 < j < n such that Xj <x;. ThenY is a
binomial random variable with parameters n and p;.)
You don’t have to show it, but if X is a continuous random variable with density fx
and cumulative distribution function Flx, then for any 1 < j < n, FX(J.) has density

n! , 4
R 7j—1 _ n—j
@)1= T @@ (1= P, Vo eR
(This follows by differentiating the above identity for the cumulative distribution
function.)

e Let X be a random variable uniformly distributed in [0, 1]. For any 1 < j < n, show
that X(; is a beta distributed random variable with parameters j and n — j + 1.
Conclude that (as you might anticipate)

o

e Let a,b € R with a < b. Let U be the number of indices 1 < 57 < n such that

X; < a. Let V be the number of indices 1 < j < n such that a < X; < b. Show
that the vector (U,V,n — U — V) is a multinomial random variable, so that for any

EX




nonnegative integers u, v with v + v < n, we have
PU=u,V=uon-U-V=n—u—0)
n!

= FFx(a)"(Fx (b) = Fx(a))"(1 = Fx(b))" .

ulvl(n —u — v)!

Consequently, for any 1 <1i,5 < n,
j—1 n—-k
P(X(<a,X;)<b)=PU>i,U+V>j)=Y > PU=kV=m)+PU2>j).
k=i m=j—k
So, it is possible to write an explicit formula for the joint distribution of X(; and
X(;) (but you don’t have to write it yourself).

Exercise 2. Using Matlab (or any other mathematical system on a computer), verify that
its random number generator agrees with the law of large numbers and central limit theorem.
For example, average 107 samples from the uniform distribution on [0, 1] and check how close
the sample average is to 1/2. Then, sum up n samples from the uniform distribution on
[0, 1], construct this sum n times, make a histogram of the different values of the sum, and
check how close the histogram is to a Gaussian (when n = 10%). If you want a challenge, try
n = 10 or n = 10°.

Exercise 3. Let X: Q2 — R be a random variable on a sample space {2 equipped with a
probability law P. For any ¢t € R let F(t) := P(X <t). For any s € (0,1) define

Y (s) :=sup{t € R: F(t) < s}.

Then Y is a random variable on (0, 1) with respect to the uniform probability law on (0, 1).
(That is, we can consider Y as a random variable Y (S) where S is uniform on (0,1).) Show
that X and Y are equal in distribution. That is, P(Y <t) = F(¢) for all t € R.

Exercise 4 (Box-Muller Algorithm). Let Uy, Uy be independent random variables uniformly
distributed in (0, 1). Define

R :=+/—2log Uy, VU = 27Us.

X :=RcosV, Y := Rsin V.
Show that X,Y are independent standard Gaussian random variables. So, we can simulate
any number of independent standard Gaussian random variables with this procedure.

Now, let {ai;}1<ij<n be an n x n symmetric positive semidefinite matrix. That is, for any

v € R", we have
n

vlav = Z vivja;; > 0.
ij=1
We can simulate a Gaussian random vector with any such covariance matrix {a;;}1<ij<n
using the following procedure.

e Let X = (Xj,...,X,,) be a vector of i.i.d. standard Gaussian random variables
(which can be sampled using the Box-Muller algorithm above).

e Write the matrix a in its Cholesky decomposition a = rr*, where r is an n X n real
matrix. (This decomposition can be computed efficiently with about n?® arithmetic
operations. )


https://en.wikipedia.org/wiki/Cholesky_decomposition#The_Cholesky_algorithm

e Let eM ... e™ be the rows of r. For any 1 < i < n, define
Z; = (X, e®).

Show that Z := (Zy, ..., Z,) is a mean zero Gaussian random vector whose covariance matrix
is {ai; }1<ij<n, SO that
E(Z:Z;) = ay, V1<i,j<n.

Exercise 5 (Optional). In the notes we showed that the Delta Method works only assuming
that f'(0) exists. In fact, the method works even when f’(#) does not exist. In this exercise,
we assume that

f/(6)+) — lim f(y) - f(e)’ f/(g—) — lim f(y) - f(e)

y—0t Yy — 0 y—0— Yy — 0

Y

exist. For example, consider
f(y) := max(y, 0), VyeR.
Then f/(0%) =1 while f/(07) =0, so f/(0) does not exist.

For simplicity, we assume that 6 = 0 and f(6) = 0.

Let Y1, Y3, ... be random variables such that \/n(Y;,, —6) converges in distribution to a mean
zero Gaussian random variable with variance o2 > 0.

e Argue as in the notes, and show that for all y € R, there exists a function h with
lim, ,o h(2)/z = 0, and

Fy) = F 0" )ylyso + f/(07)ylyco + h(y).
e Conclude that
\/ﬁf(Yn) = ﬁ(f/(0+)yn1Yn>0 + f/(oi)ynlYn<0 + h(Yn)) .
e Deduce that, as n — 0o, \/nf(Y,) converges in distribution to
(o (0 zs0 + 07 (07)1220) Z.
(Note that f/(017)Y,1y,~o and f(07)Y,1y, <o have disjoint supports; this could be
useful to prove convergence in distribution as n — oo.)

Exercise 6. Let A, B, () be sets. Let u: 2 — A and let t: QQ — B. Assume that, for every
z,y € Q, if u(z) = u(y), then t(x) = t(y). Show that there exists a function s: A — B such
that

t = s(u).

Exercise 7. Let { fp: 0 € ©} be a k-parameter exponential family {fy: 6 € ©, a(w(0)) < oo}
of probability density functions or probability mass functions, where

fole) = h@)exp (Y wilO)t(@) —a(w(®))),  VeeR

For any 6 € ©, let w(f) := (wy(0),...,wi(0)). Assume that the following subset of R* is
k-dimensional:

{w() —w(@) e R*: 0,0 € ©}.
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That is, if z € R satisfies (x,y) = 0 for all y in this set, then z = 0. (Note that the
assumption of the exercise is always satisfied for an exponential family in canonical form.)

Let X = (X3,...,X,) be a random sample of size n from fy. Define t: R™ — R"™ by

n

HX) =) (X)), t(X5)) -

j=1

Show that ¢(X) is minimal sufficient for . (Hint: if you get stuck, look at Example 3.12 in
Keener.)

Conclude that if we sample from a Gaussian with unknown mean g and variance o >0,
then X is minimal sufficient for x4 and (X, S) is minimal sufficient for (u, o?).

Warning: the fy exponential family mentioned here is a function of one variable. If you use
the Theorem from class about checking the ratio of fy(x)/fs(y), the functions there are joint
density functions (i.e. the product of n copies of the same function).

Optional: If the fy functions are always positive, you should be able to change the assumption
to the following. For any 6 € O, let w(0) := (w1(0), ..., wk(0)). Assume that the following
subset of R¥ is k-dimensional:

{w(@) e R¥: 0,0 € ©}.

Exercise 8. Let Py, P, be two probability laws on the sample space 2 = R. Suppose these
laws have densities fi, fo: R — [0, 00) so that

/fl Vi=1,2, VACR.

Show that

sup [Py (A4) - / (@) — fol)] d.

ACR
(Hint: consider A := {x € R: fi(x) > fa(x)}.)

Similarly, if Py, Py are probability laws on (2 = Z, show that

sup [Py (4) — Po(A)] = 5 37 [Pi(2) ~ Pa2)]

ACZ

Exercise 9. Give an example of a statistic Y that is complete and nonconstant, but such
that Y is not sufficient.

Exercise 10. This exercise shows that a complete sufficient statistic might not exist.

Let Xi,...,X, be a random sample of size n from the uniform distribution on the three
points {0,0 + 1,0 4+ 2}, where 0 € Z.

e Show that the vector Y := (X(), X(n)) is minimal sufficient for 6.
e Show that Y is not complete by considering X,) — X(1).
e Using minimal sufficiency, conclude that any sufficient statistic for € is not complete.
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Warning: An earlier version of this exercise considered all § € R, whereas now we only
consider 0 € Z. The case 6§ € R was unintentionally difficult.

Exercise 11 ((Optional) This exercise requires some measure theory so it is optional.).
Let {fy: 0 € O} be a k-parameter exponential family {fy: 0 € O, a(w(f)) < oo} of joint
probability density functions or probability mass functions in canonical form, where

fw(z) == h(x)exp (sztz(x) - a(w)), VzeR", Vuw € {w € R*: a(w) < oc}.

Assume that the following subset of R¥ contains an open set in R*:
{we RF: a(w) < o0}.

Assume also that there is no redundancy in the functions ti,...,%;, i.e. assume: if 3
ai,...,qa; € R such that Zle a;t;(x) =0 for all x € R™, then oy = -+ = a3, = 0.
Let X be a random sample of size 1 from fp (so X = (X3,...,X,), and Xj,..., X, are all
real valued). Define ¢: R" — R" by

HX) = (LX), .., (X)),
Show that ¢(X) is complete for 6.

Hint: if you get stuck, look at Theorem 4.3.1 in Lehmann-Romano. An early step in the
proof uses the change of variables formula for the pushforward measure.

Once we know the above statement, we can deduce the following about repeated random
samples from a single variable exponential family.

Let {fy: 0 € ©} be a k-parameter exponential family {fy: 6 € ©, a(w(f)) < oo} of proba-
bility density functions or probability mass functions in canonical form, where

k
fw(x) == h(x)exp (Zw,tz(x) - a(w)), VzeR, Vuw € {w € R*: a(w) < oo}

Assume that the following subset of R* contains an open set in R*:

{we R*: a(w) < o0}.
Assume also that there is no redundancy in the functions ti,...,t;, i.e. assume: if 3
ai,...,q; € R such that Zle a;ti(z) =0forall z € R, then ay = -+ = o = 0.

Let Xi,..., X, be a random sample of size n from fy. Define ¢t: R* — R" by

n

HX) = (t(X), . (X))

j=1
Show that ¢(X) is complete for 6.


https://www.stat.washington.edu/jaw/COURSES/580s/582/HO/Lehmann_and_Romano-TestingStatisticalHypotheses.pdf
https://en.wikipedia.org/wiki/Pushforward_measure

